.Qgestion Booklet No. : AH GS/Z 0 2 1
udlay

TenT

2021
Qlung) ley
(UL UuUigUys Srb)

e ety : @re® werfl Gryb) _ ) .[er_rgg wduQuearsar : 200

sflennésenéE uSloaflsEuen Epssan gflamramen saiamonsl Lgssab

w&fw glejsmraset

Qb5 a&]s&rnﬁ@ﬁn@u% Csitey GsTLriGausnE 15 FOLhsEnsE WaTagns o mias@nhéE PRSILHLD.
2. Qb5 damzbsrgu, 100 famssmens Qaran@erag. efewellsss Qsm ri@eper @ealams@snEride

oy

ereveom ellemaseniy eufleanswns @)L 1b G‘Lﬁbgjdrsﬂmsurr aTeUSILLD, @enLufle) GeudmisSTETSET eTeneuud @deme
aaTuensLD 2 ms Caug Gararerad. eflenng Clsn@Lifled ﬂéﬁ?lﬁ Gonun@® B, g@mﬂn (P50 LSS
Bl G smpssanasnesfiiumemflii  Qshellds, s&fluns o sver Gmg‘m:g, oo 6l N en e
Quibmistlandten Coauam®ib. Caiey Qgmiudw Ny Q& GASa poopullLre elams QsnEuy wHBS
STULILIDIL_L 7). ;

3.  ereveon ellemmésErsEn ellen weflésayn. erdenr ellamss@nn swwrear wHUQuaTsEr Qaram_emeu.

4. enms@eLw ufle aareaa Qbsl UsssSdr eug Cud apeaawdld ghlsar smwbgerar Lo [ .
fiuser erps CauamBib. Ceuy arewswb ellamsQsm@GUd TWassmL s

5. dleggrer geam ddeLsamer - GHuusHE S@pssamsrafiuuraryrd 2 MsSERSE PRISIURLD.
oo seers  @bliug 2 erefli.  weuflwn  Geruppiiue. Ceauagmgw  oiflejengser  eflen_sgmafigutd,
Gaayssml oieningl§ & lgeb aupmSLILIL (heTera.

6. oms@rmiw elamsdsrEuy eeareneaw (Question Booklet Number) eflenggrefiar apged uvsssded
2phHblsar  s@wpgeaer  @LsHd smenw  Fflp  ewweLw  upsipener  Guennellemed
©hsgissT L Caigm@ib. eflems@asm@Ly canamen e sgnerew FTUTES 5516 &TLLS seuplenGeon
Sioag GH&EES ﬁm%aﬂnﬁmn 2 mgEnaLW alleLsgrer QFoargsrésliupid. :

T geuGleuny eflemayd (A), (B), (C), D), (E) eren g Lidldsaeas (eflenLsem) GamamBerengl. Sruser (A) 2icewg (B)
2z C) swag D) @eausaie Cr e clenLanws Gsfley Caug efenssrafler Edssisam L
Cauainr(hid. 65 Caerafils @@dafgjé;@ é?o%u% aflwrer aflenL @guugm ﬁmsmﬁs@@;ﬁ, L&&S%‘Iﬁ_lm@ aren
frser erssamgddratern ps eorow o gsrellen Ghlsgssm L. Couampn. e haghE efen
QzNwellevemed eresfled, Bruast () erstiueng Seudlwib BniuGeasssm(Bib. erivguimSieyib, Gaered 7

aLenwsgren Cambhshds GCeuampin. Bruser g Caareilsd qemmis@ CopurL glem_%nm ;G@;J,ﬁ%cﬁr 99%
eflenL sflwneansna g@ﬁsﬂ@jm 25 eflen seupragraCel &maLILIEIL.

8. riset eflams@sm@iGen anslLsssmsub BsECaur deg HssCaur sLng. Csiey Crrsdd
%ﬂmﬂﬁ@gn@fﬁ]gﬁ?@un agg}o%] G‘S]&:};E saTeneTewr Gaireay e;qaammu@sﬁh‘_@ @maﬂﬁb 586 mm%ﬁ
GCsirey apubsden Brisar 2 msenaLw ol ssrener samsrafluurerfiin Qsrfssell Geugn@ib. @edalanms
Wsmgideer Gsia pihs Uenenm L (G phiser a(hs5& bewe Saindsasuibhairser. :

- Lyser  ergpdHuumitiu aemnsClgngullss soLAuusssdnE - (e e edten LGSR

Sk g’ﬂs&rﬂ@g‘,ﬁ& %ﬁrmmwnﬁﬂgmgg eﬁ%, slemstgneullar abs DLsdlew apsells GNHLysamenyb
T(PS5&enL gl DH5 SMleyenr samgliuns WeruppuuL Causior@® b, :

10. soass Qamsaigd mde euyGar @miSwurans.

11. fusar Copsar. dleemrseie eapapurag Gaupns seudeamd GCsreurmaruh aHEED
b6y &ssEss@ 2-atarms Gl erar Shlaynssiu@Eng. ]

| ENGLISH VERSION OF THE ABOVE INSTRUCTIONS ARE PROVIDED ON THE BACKSIDE OF THIS BOOKLET |

[Turn over



AHGS/2021

SPACE FOR ROUGH WORK



If Z=52 and ACT = 48, then BAT will be equal to

(A) 39
®B) 41
(C) 44

o

(E) Answer not known

Z =52 wpmd ACT = 48 erafleo BAT =?

A 39
B) 41
© 4
(D) 46

E) deoL Qsfusideme

M5E$RB3AK7#9$UDIN4% FH2@8W. How many such consonants are there in the
- above sequence each of which is immediately followed by a number and immediately
preceded by a vowel.

(A) One

(B) Four

(C) Three
Two

(E) Answer not known

M5E$RB3AK7#9$UDIN4%FH2@8W

CuwCe 2 drer Qpmfléd 2 arar 2 pLiysatid, SiHs 2-NUILES (PETATTO 6 2 W@ FEsHEID
<5 2 pilieus ASTLIBE @ aaranibd arsemiyw outupssisseier aarailsmaou
STES. :

A) geam
B) prang
©) e
D)  @ran

€ oL Gsfucddma
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- 3 A can do a piece of work in 20 days and B can do it in 30 days. How long will they
take to do the work together?

P
(©)
D)

- (B)

15
12
20
25

Answer not known

A areamueui @ Geumeew 20 priseallgid B eearueuir 2G5 Camaamu 30 Brisefigib
Qewg pyrurisdr. eualiBamb Csibg duCoumomwus Csig WysHs asgmen

BTL&ET Q&L ?
A) 15

By 2.

©C 20

D) - 25

(E)

cllenL. @gflwailerenen

4, A can do a piece of work in 8 days and B can do the same piece of work in 12 days.
A and B together complete the same piece of work and get 200 as the combined
wages. B’s share of the wages will be

o
(©)
()
(E)

36"
% 80
T 85
390

Answer not known

@ Ceueooow A, 8 priseie Gsug wyoumr. <65 Cameew igés B-é‘s@
12 priser @b. 2ips GCeumewmw A wpmibd B Qmembd Coibg wpysds T 200w
eoudoanss cadwuwors Qupprd oHd B-saner sadud

A
(B)
©
D)
(E)

AHGS/2021

T 75

T 80

T 85 .

T 90

afler Qg fMweldere



The curved surface area of a right circular cone of height 15 cm and base diameter

16 em is-
(A) 60 7 cm?
(B) 68 7 cm?
(C) 120 7 cm?
136 7 cm?
(E) Answer not known

15 @&.15 2 wyapd 16 Q&5 el Lqpd Qamawr. gm Crireul L& saiblber euanarurLiy

(A)
B)
©)

®)

(E)

60 7 Qs.82
68 7 Q.52
120 7 Qs.158%

136 7 Qs.8% -
elen Qsflwaelcena

A machine bought at Rs. 50,000 falls in its value by 8% of its value every year. Find
the value of the machine after 2 years.

A)
B)
©)

S

(E)

% 40,000
¥ 43,220
T 42,000
T 42,320

Answer not known

. 50,000 wiluyerer @ Qupdyorary iser aoudld galarm  aBL P
8% Gondng aafld 2 amLhsErdEELId6ar Siger cilame ererar? :

(A)
(B)
(©)
D)
(E)

% 40,000
% 43,220
¥ 42,000
% 42,320
e Qsflwaildenc

5 ' AHGS/2021
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7. The value of a motor cycle 2 years ago was ¥ 70,000. It depreciates at the rate of 4%

p.a. Find its ﬁresent value.

(A) 65312
(B) 64312
J 64512
D) 65412

(E) Answer not known

B sés7 awnsand gardlar e 2 arhaErse e I 70,000-28 Q®mbssl. <isen
iy yar® Cammid 4% aigbd Gapdng. igear sHGCUTMFSW LHUMUE STENS.

(A) 65312
(B) 64312
(C) 64512
(D) 65412

(E) o&len Qsflwellevene

8. A sum of ¥ 46,000 was lent out at Simple Interest and at the end of 1 year and
9 months, the total amount was ¥52,440. Flnd the rate of interest per year.

A 5%
B) 6%
€ 7%

QIS%

Answer not known

SjFe) T 46,000 yarg 1 yawh 9 wig sTSHHGU GUnE saflau iy apob QLIEsS
Qzrenswins T 52,440-2,6 2 WMHsg eafld el ly IS sTaNs.

Q) 5%
- B) 6%
©) %
D) 8%

(E) o&leor Qsflweiidvensd

AHGS/2021 ' 6 . o



g,

10.

If Karkuzhali earns ¥ 1,800 in 15 days, then she earns ¥3,000 in ————— days.

ot 2

B)
©)
(D)
()

20
15
10

Answer not known

15 prisafled amiged T 1,800-g eugponaronsy Hugdlpri eafld T 3,000-8
sl sefled aumLraonss QumeuT.

A)
B)
©)
®)
(E)

25

- 20

15
10
e Qg flwaildvene

10 lakh candidates write the TNPSC Exam this year. If each exam centre is alloted
with 1000 candidates. How many exam centres would be needed?

(A)

(©)

‘D) .

(E)

100
1000
10000
100000

Answer not known

10 @Qersd Gsiraiser @euauran® TNPSC Gsiey erpgdlemart. geabeunm Csiey
@wwsdaib 1000 Csialser Csie epdamd assmas Csia) mwwnss Cema ?

@)

B)
©)
((0))

(E)

100
1000
10000
100000

- e Gzflweiidana

7 AHGS/2021
' [Turn over



11.  The highest number which divides the product of any three consecutive even natural

number is
A 2
B 4
© 8

J)IS

(E) Answer nof known

3h&505s et Qe @Quie) aamsaiien Qumssme u@GHEGD WS IGLNWL erer

A 2
® 4
(C) 8
D) 16

(E) flenL Qg flweildena

AHGS/2021 _ 8 3



12.

A competitive ex’am.paper-' has 100 questions for which 1 mark Wi]l_be awarded for -
each correct answer and } mark will be deducted for every wrong answer, + mark

will be deducted for non-answering. Find the total mark scored by a candidate who
answered 88 questions of which 61 are correct.

A 61

M 445

(C) 4425
(D) 54

(E)  Answer not known

100 e&flarnéser CaETemL ¢ .GI_'JFFL'_lq_;j‘; Gaiiefler sflunar  eflanwaflé@w @euGleum(m
cflemmeilpd 1 Lb;ﬁu@umr apnstiu@dpg. saprer  dleLéE 3 'mﬁu@uqﬁn_.
as@a;asuu@éimg Cugib e waflésns Coerells@ L+ wHuCuear sfisstiuGEng. @

- Gsirauit 88 ofammés@née oL welisdprt. eupmer 61 o T8 (@B, &rﬂu.lrrsmr'

AL walsHmaAp erafler et Qumib wHUQUET ereicueray?

A) 61"
B) 445
© 4425

(D) 54

E) e&len @g,rﬂtueﬁlsbmm '

9 - ~ AHGS/2021
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13. Traditionally, the Jand of Tamils is presented as containing 5 major physiographic
divisions. Match the following.

(a) Kurinji 1. = Fertile region
()  Mullai 9.  Forest region
(c) Marudham 3. Coastal region
(@  Neidhal 4 Mountainous region

@ @® @©© @
Aye g - 3 Sl

3 T | 3 2 4
(C) o 3 y S 2

4 2 1 3
(E) Answer not known

Queeniy yeflullwe sl urpbuflugded (@u_rmsma; FNTHE DMDSED) ‘r_ﬂmrma;mm
5 Qupb Wfleyserns eupki@Eng. UeraumeauaraupBlembs AUTHSSs.

(a) @',gﬁ]@eﬂ 1. cuerworer u@d
(b) . poee - 5rra_®u LGS
() w@msbd - 3. s UG

(d) Qpusd 4. veesd UGH

@ G © @
r g 8 g
B) 1 3 2 4
€. 3 o Aty
By A 1 3
. (E) elen Qsflwelerena

-~ 14. “Nalamana Tamizhagam” programme is implemented by
(A) o Directorate of Family Welfare '

Directorate of Public Health and Preventive Medicine
(C)  Directorate of Medical Education
(D) Directorate of Medical and Rural Health Services
(E) Answer not known '

"Bewrer SLlpsb" Hi b —éh Aewdu@ssiiLB&ng.
@) @hvupe QuespTsd - ' |
(B) Qurg ssrsmy wHmb SELIY m@ggjm @QUIEGBISD

C) pB;ssus SOl @uEEHHTSD

D) wmssieu wHID 2ays GaTeTy Cemeuser QUEEHTSD

(E) &le Qeflwelidvene

AHGS/2021 . o 10 ey 3



15.

16.-

Pre-matric scholarship is g"iv'en to
(A)  students from 9th standard to 12th standard level
(B) students of 9th standard and 10tk standard level

~ students from 6t standard to 10t standard level

(D) students from 6th standard to 12th standard level

(E) Answer not known .

ufl Gl fé 2 gells Qsrensufer Lwearmaflser
(A) 9-1b Gy WPs® 12-1b UGLIY Uy UigsSeTn WoreTeurseT

B) 9-b auELY WHDD 10-1b GLIY LgsEHem wrareliser

(C)  6-1b aGLIY WD 10-1D QUGSLIY QU] LigSHeTD LDTeRTeuTaEaT -

D)  6-1 m@u-u WPSD 12-1b aUGLIY e UigSEemD Lomemreuiser

(E) eler Qsflwelerene -

Which. of the following is wrongly matched?

' (A) Swachh Bharat Abhiyan — Urban and rural areas
(B) Amrut Scheme — Municipal Corporation -
(C). NEEDS — Micro, small and medium enterprises

J : Pradhan Mantri Fasal Bima Yojana — Environment

(E) Answer not known

ﬁ]e&rm@mmmﬁgw T8 FUDTES Gepeuiiul (Herarg) ? |

(A)  veus LMTs eQumer —  p&TOUD wpmb AymotiLDEsHT

B) oibms Hrin oKk - BEITCA Hyeianiiser '

(C) NEEDS ($iev) '  —  en. An wHmb 5EEsTS Qsmfidae
D) Gygrer wpHM usd Swr ICSu_lrrgamr —  SEHDGLO '

(E) ol GRlweldena

X1 ; AHGS/2021
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17. The model based on the Tamil Nadu Human Development Index
J United Nations Development.Pro.gramme model
(B)j Wdrld Bank Model | :
(C) Asian Development Bank Model
(D)  Reserve Bank of India Model

(E)  Answer not known

sB8pETEH wafls Cubur G @gﬁ]uﬁt_mL S|gLIUMLLITES G&ﬁaw;_ g
A) gsdu prpsefler sucrfr‘réé]gs S wrdfl .

(B) o @s ek dullan wrl

© pAu aeried amdular ordf

D) ums ﬁl’&r‘reu eﬁr_mef,!umsar wrdfl -

(E) dllevr Ggrﬂuaﬁ]@mm

18. The combined programme of Self-Respectors and communists came to be called as
plan. : :

(A) | Che_ngalpat Plan

@/ Erode Plan

(C)  Virudhunagar Plan
(D) Salem Plan

(E) Answer not known

swoflures QussssTT WHDHID sbaiev/Qurga@Lamvandseier s (s JLHDE

—— AL e, |
@A) Gsmsdur® Hribd
®) G Ao
(©) - Augmsh HoED
(D) Csend Hid
E o Opfudooe

AHGS/2021 12 = ' 8



i3

Name the first Tamil Newspaper, which published political cartoons during the

colonial rule

@

®)

The Mirror

Suthanthira Sangu'

.w/ The India

(D)

(E)

-Swedeshamitran

" Answer not known

Qaucrﬂu&]L,L_gj?

@ 8 i

B) aspdy enie

(©) 51 @;’r;g‘,]u.lrr

D) &Cssdsyer

(E) .'aﬁlwl_ Qsfwueddane

13

2 m1d Gaowiir 5nm5§]m abs D Qeudsser é\u;rélu_lsu MG UL BiSenar (y::g,aﬂsv

AHGS/2021
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20. “One’s knowledge depends on how much he learns” — What is the simile that

‘Thiruvalluvar uses in this meaning?
(A) When water flows like a flood
.J In sandy soﬂ when deep you delve, you reach the springs below
- (C) When flowers, in barren soil, on-sapless trees, shall blow
(D) Like staff in ‘hgnd .c.af him in slippery ground
(E) Answer n(-)t known
‘wiser s0ell sHD erallhE Sidle] 2apd’ — @uGun@@a‘s@g Q@Gum@mr'r gaQib
2 GUEnLD érg,j?
A) Qeudters sevanu ETHLLLD
(B) | QgL earg SNl o ewrh Casemfl |
©) eppd LDULIb seflis sHpl
(E) sﬁ]ml_; G]garﬂu.leﬁsbsm%b

~ AHGS/2021 14 e s



“The compassion to share with and patronize lives is a primary virtue praised by

many scriptures”.

According to Thiruvalluvar, which of the fbllowing is considered the primary virtue

of life?

(A) ‘ Helping others

(B) Loving others

J Sharing food wilthlothers .
(D). . Spea.king lovingly to others
(E) - Answer hot known
SIDHIOSET samid Sphsaied oMb saewru eym);.ﬁ eretiy  H(HeueT(@heuT dg,mse‘rés
FamSImTT?

@A) ope Qeiigd

CB) é){eﬁju urrurr@@g,sb-

©  uehpanEse

D) @aQsnd aamsd

EB) e Ggrﬁmaﬂmém@

15 . AHGS/2021
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22. Who pronounced the words, ‘Sangamazhi Tamil”?
(A) Thirupan Aazhﬂfafr | =
(B) Kuzhasekar Aazhvar
(C) Aandal |
< Thirumaﬁgai Aazhvar :

(E) Answer not kn_own
‘FrRISLOE s’ — eremmaeul
(A)  Smuurermpeur |
®)  EeCssympaunt

(C) yewrmer

D)  Hmwremswurpeuri

(E). ddeL Gsfludidamae -

23.  Which one of the following is used for protecting one’s homeland during war?
(A)  Vethchi '
(B) Karanthai
(C) Vanji
d Kaanji |
(E) Answer not knbwn _

g&anmLé &T55)6 Qsmerer] Gumfl®w = Upsdeent a2

A) Qeud
®) srpes
€) agd

D) srgH

(E) ofleor Qsflwefdena

AHGS/2021 = 16



24.

25.

established a fact after a careful study of Roman Coins that commercial
contacts between Rome and South India commenced during the reign of Emperor
Augustus.

(A) Father Heras
f Mr.R. Sewell
(C) D.D. Kosambi
B). Dr UV. Swammatha Iyer

(E) Answer not known

Gur;rgerrr " SSEVLG mneug,ﬁ@m@u_l (Elyrrmrrqrﬂa;@jm @gw&ﬂgﬁumﬂm@jm aaflsg

Qsriyser @ mbss) aerueg  Grroryfl  prevmwukisemer souasgLer LSsIADE

@éspPlevar GeualliuBsSweur

(A) - spews adlgme

B) 4w R. GsGoued
(C) D.D. Carembl

D) et U.V. samiprs gt
() e QsNweldama

If the battle of Plassey was considered to be the begmnmg of British Rule then by
which battle they completed the conquest of India?

(A)  Battle of Yandaboo
(B) Battle of Arcot
(C) Battle of Panipat

M Battle of Kirkee

Answer not known

QerrduGuriler eped @,r_r;ﬁu“lrrsﬁ}eu aymeﬂ@ev@u_l <& ngLM$uGummgj erafled TS
Gumflar eped Big wWeawLuQUDDE ?

(A)  wrerLy Gumi

6« bt Sl

(C) urefuc Gunr

D) & Curi

E) e Qpfudome |

o AHGS/2021
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26. Who introduced the ‘Mid Day Meal System’ in Tamil Nadu?
(A) E.V. Ramasamy '

M K. Kamaraj

@) - MG Ramachandlran

(D) M. Karunanithi

(E) | Answer ﬁot known

g,@%;pg,rrr_@) wHul 2 amay g,h'_pg,emg, <D psLILESS weul Wit ?
Q)  m.Qeu @yrosms

(B) . smwoymgyt

(C)  erb.gd. @ymossbdlyen

D) @ seeHS

(E) ool Qsflweiidena

927. Bhagat Singh was sentenced to death because of
(A) = Attempted to assassinate Charles Tegart
(B) Leaded the Hindustan Socialist Rep'ub'lic Association

(O) __Advocatéd Socialism and Communism

d Lahore Conspiracy Case

(E) Answer not known

BE T2 AL LDITGRT & GitTLGD T eﬁ]ﬁa;a;uui_u_g,,maarrem SemTLd

(A) e Gh_aarrrrL_ Qa;na)a) PuHFSSSSTD

B) @psevssTen G&na@ueﬁ]& GlgWrs LUIAET SEOEUTTSOMED -
(C) Grraflwelle wHMID Sbyafls Asrarassamar urtSwgmed

(D) o &8 aupsdlhésns | |

(E) &fen Qzflweiicoene

' AHGS/2021 18



28.  The functions of NITI are
| (1)  Decentralized Planning
(2) Harmonization
(3 Capacity Building
(4) -External Consultancy

Out of these, which are correct answers?

@ Mand@
® (@ and

& O Ome
® @and@

(E) Answer not known

M Lar csfaarivaion
(1) uﬁmcun‘é;asuugL L 1b
2 ppBasa
(3  Her Gubun®
(4) Qeuefliyp < Ceorsemer
| GuCe seT_aipr a@a sfurer dmL?
@ (D) oppo @)
B @ oppo @)
© (1), @ wpgo G)
©) @ wppo @
E) ofeor Qsfllucidma

P S it g 19 AHGS/2021
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© 929. The measures of tenancy reforms pertain to
(1) Regulation of rent :

(2)  Security of tenure ;

(3)  Ownership rights for tenants

(4) Ceilings on land holdings

A) (é) and (3) only

(B) (1) and (2) only ;
(C)p (2),(3)and (4) only -
M (1), (2) and (3) only

(E) Answer not known

&SF5DG §rrg,£@g,g,r5wsaﬂa) GLD!_T)G&TTGTTG]TLILII_[_. BL-61q &6 &5 (@5 L6 Qg riirenLwenel
1) s sL_@uur@

(2) GSSMESHTEQ LITGSTLL

B) Esmssnrisefier o fawser.

(4) Hezoaw 2 FFayb

@ @ wppid @) oL Gid
B) (1) wogid (2) wL b
©) (@), () wpyibd (4) LLHD
D) (D), 2) wpmd (3) LLED
(E) dflev Qsflwefdana :

30. Which of the following is not the function of finance commission?
- (A) . To recommend the distribution between union and state of the net proceeds of

taxes

(B)  Suggest the principles which should govern the grants-in-aid of the States

(C) _ Suggest measures to augment the consolidated fund of a State in order to
supplement the resources of the Panchayats and Municipalities

¢: To formulate a plan for the most effective utilisation of the country’s resources

(E). Answer not known

: %@aasuhTLaJ,li}@sh H8 pmamugder Wygrar Qeudur® o @aep Gl ab? :
A) afselar flay euporargdean LEHW LHHID orHle iys @@m_uﬁleu B CundléEs
: ufbgenrliug)

(B) wrileokseEnss e_gmeug,g)a;nsur mrreu‘r'lu_lrmaasmm Blireudlés G%Gusamq_u_l Qaneranssaner .

uflbgieny GFlieug) ;

(C) u@Epsmusg  WLOHMID rr_r;a.a;:J:Tl_eﬁa;s1"ﬂs!rr QUETEIGMET - Sn(DSOTE @  LTblegdler
orudmanhs Hdowu ifsfss pLeysmsassamar LMbSI®T aPRIGS

D) priger cuethigamer Wisa b HobuL LweaTURSGSHETET ILL S aUGESSD

(E) e&lerr Asflweioame : :

AHGS/2021 s 20 P



31.

As the Act of Anti-Defection law

R:

v

®
(©)
-

E)

DT -

GTEn .

=

®
(©)

®

Independent members of the Parliament can lose his eligibility if he votes for

another political party against his own political party

. Members of the Parliament and members of the legislative assembly will loose

their eligibility againsi: the order of the political party.

(R) and (S) are True

" (R) is True and (S) is False

(R) 1s False -
() is True

Answer not known

GL& g_;',a;éud) sHULF s aflHluler S5 qu_

&Gu_u'_m&u_lrrasg, Gg,frﬁ@g@é;&uul;p unun@me&r@ Coissgl Gerarm gGseibd
<rflud sl Geirbame ieurs o mifer sGS@wu @uium. .

FUL UG LMy T@hLOGHTD Q_Q}ulﬂim@ﬁ) wrble  FL_eTn &Qjﬂlﬁ]ﬁlﬂﬁasﬁ Qs

FUL UL s Al S DETEGDTDTS mn&&aﬂggngj@ Ia‘@ju@mﬁ' SGFHenw

- @uuurrser.

(<) PP (6T6D) 2 @i

(ST) 2 renld (6T6) Seum’

(=) sau

(eT@) o _aiTenln

eflanL G]g;rﬂu.;sﬁ]sbwcn s = .
; . 21 o L - AHGS/2021
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32. Match the following committees with their purpose of setting up (Panchayat Raj

Committees) :
: Committees Purpose
(a) L.M. Singhvi Committee 1. Administrative arrangement for rural
- : development
() G.V.K. Rao Committee 2. Community development Programme
(c) Balwant Rai Mehta Committee 3. Revival and strengthenmg of Panchayat
: _ System
(d)  Ashok Mehta Committee 4. Revitalisation of Panchayat Raj
' Institutions

@ M. @ - @
A 1 3 2 4
B g 4 3 2 1
F <4 1 2 3
- 3 Ay 2
(E) Answer not known

EpssranTiiu(Hibd @@a;asemrr &IQSGUT Sl Crréssg e QUImISSa D (LEHETWSS T
GW)-
&W ' ‘ _G;_r,rra;&;u::
(@) erev.arid. Amiell G 1.  &gmoouyp Cowur Hé&smer ;_F;]r'ra.:rraa @'p')l_Jrr@
(b) G.V.K gres G - seps Qe masd HLd
(©) ueep rmu CussT GW 3. ysgui safigsd O LEFTLSS (PP
- uQLUUBSHSD
(d) =Csrs Cuwssm & 4. uEpETLSE) T ﬁgmwma&aﬂm l_gggjufﬂn
@ G © @ ' :
. A 1 3 2. "4
B) 4 3 2 1
3
2

o

) 4. 1 2
on -3 1 4
(E) &fen Qzflwelldvenay

33.  Which one of the following is offered by the Election Commission to a recognised

political party? _
(A)g Party name (B) - Election funds

Election symbol (D) Election manifesto
(E) Answer not known : :

Yemeupauareuddled eTens Gg,rrg,sv %@nmmm @umﬁa;lﬂa;&uuu_ orflued s 8@

QULPEIGEDG ? . ; :
A) &8 Quuir . (B) Ggiige H8

(©) G.e_r,.r'rg,e'.) Sememid _ (D) Csigd iflsams
(E) derr Qsflwaieene '
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34.

35.

Consider the following statements :

‘(I) The Indian fundamental rights are absolute.

(II) The fundamental rights are enforceable.

Which of the above statements are true?

(A) (D) only | v @ only

(C) Beth (I) and (IT) ~ (D) None of the above

(E) Answer not known

EP&e&TaTUIL(ID UTSEEWBIGEMET &(HE)s.

D) @sdureded oigliuemL. 2 AML&Er (p(PenDLITaeel

D) eigiueL 2 fawsd paL(p@pubhsSs siguee

Gule srawmiiL@IL sapmiseic sflurarame eraneu?

A) (I) wi@w : B) dn LDl_®LD

(C) () wpmd (I) : D) Guhser_ Taeuujdldame
(E) oflen Gsflwaeicene ;

Consider the following statements :

(I) The doctrine of Eclipse is applied in relation to a pre- const1tut10nal law enacted
before 26th January 1950 -

() The Act is eclipsed when the constitution came into force and a shadow falls on
it because it is in consistent with the constitution.

(III) All laws governed by Articles 13 (1) and 13 (2) are pre-constitutional laws.

VA of the above mentioned are correct?
(I) and (II) are correct :
(B) (I) and (III) are correct
(C) (I) and (III) are correct

) (D), (I) and (III) are correct
(E) Answer not known

- Spsaranlu(ibd ansduiisamer &(HSIS.

I Srsavs Casriunr@ erarg 26 mameufl 1950-&& (Pe ‘@UJI_UH}I_II_IL_L_ agﬁu_lm ETEGT
&UL_BIGEET SM(HLD

(I) wrfwue steand aps @ e edter slLmseler Bg @ ,@EQGU LUl @ Hysemr

Gemuriger & eoups dpHamer, gQaaied @& rduemoudbd @53
Gurr&rrg,gj :

(III) e9d 13(1) whHmib 13(2)em EP e 6raT SDATSFH m_L_rma;@m ggé‘lu_mu &Marrg,g‘,]ma;@
@murra;@eu o _@rer EFL_I_FBJ&SGTT[T@LD . :

Cuwle a;rrsm[.ru@umsuuﬁ]s’u renau sflwinarena ?

@A) @) wood A1) &f

B) () whpmd (III) &M
(C) A1) whmd (III) &M
D) @), dI) wpmd (II) &M
(E) oo Ggsfueidama
23 - AHGS/2021
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36. Aﬁnirkhusmu hailed which city as the “Second Heavep and a great centre of Justice”. |
(A) Mathura
(B) Agra.
© 'I'{ash.r.nir
d Delhi.
(E) Answer not.k-nown
ﬁ“ﬁff@ﬁv@; Ths pETSMS QredrLmbd @erissd wHmibd &E Anps Bl Liflumeemnr G.EDLDLI_I-Lb- :
gz ) (WTLE [ ) . |
(A) wggr
®) %@,ésmr_
©)  sregSysd
. (D) (AT
(E) ‘%ﬁl@);@gfﬂu@ﬁ]@b@éﬁ

AHGS/2021 - shee i g om



‘ 37.

- 38.

Match the List I with List IT and choose ydur answer from codes given below :

List I (Person) List IT (Titles)
(@) Arya Bhatta Newton of India
(b). - Skanda Gupta Hero of Asia and Europe
(c) - Chandra Gupta II Destroyer of the Sakas
(d) Kalidasa Shakespeare of India

a8 oAb @) (d)
& 1 23 4
iy -3 4 | 2
0 1 5 gy
& 1 9

(E) Answer not known

o S0 3 e

&G Qasr@ssiur L aufles I wHpitb euflens II.e;u'_L_aJwémm_u_: Qurmsgs.

afflens I (pum) auflens I1 (L Lib)
(@) <flwucen 1. @pHureler Hlyyr e :
(b) evapsEUsT 2. <flwu wpmib gCrriurefer @Gun
() spdrgusi I1 3. snasiamer 2 sseuir :
(d) sreflgner 4. @pdurellen Cagdenv Qi

@ () @© @ ' |

1 - 2 3 4
8y -3 -4 1 2
© 4 3 2 1
ey 1 3 2 4

E) eler OpMweicrane

The Indus Valley Civilization, people had a trade contact with
(1)  Central Asia Mesopotamia ;
(2) North Eastern Afghanistan -

(8) Gujarat and Baluchlston

" (4) Persia :
(4) (1) only (B)_ (2)only
(©) (3 only .Wm; @. @), @)

(E) Answer not known

- 8pgl swleuefl wé&seT s BrHGEH 6 auraeflu Qsriy G]a;rrmnq.@‘mg,nrra;m
(D wsflu fur QusuGLmblwn

(2) e dlpss glsralldvgrer
3) ©ygs LD'I_TJQJLD ug#laug,rrsw

(4  unp&sw : _
A) @) oo = : (B) (2) v
©) @B wpw @ @), @), (3), (4)

(E) ofleor Qsflweldme

25 ' AHGS/2021
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39. How is the 'Village Naluvedapathy in Tamil Nadu region escaped from major disaster
during 2004 tsunami? |

(A) Natural Mangrove Forest

Forest created by State Government
(C) Sand dunes .
(D) Environmental protéction act 1986

(E) Answer not known
2004 sammbluder Gumg g,Lﬁl@&;de} s arer pEsCausud dgmon Quepnd Curfleldnhs)
eréueunm SU9558)? : | i
A) Qupewsurs é{sml.p;‘agjehm gglifle sr@asafarme
B) wrhe gerd eerissiulL srhHsaflarmed
- (0)  wewe Cu@aefarmed -
(D) &g’)gié@ggsﬁ ungemiy &L b 1986
B eSer Asfucidme

40. Which one of the following is.the North Dravidian linguistic group?
J Malto i | '
(B) Telugu 5
(C) Gondi
(D) Kannada

E) - _Answer_ not known

e Srrell Qumd @ 618?

(A)  wreGLr
B) Gsame
(C) Ganamg.

D) a;sﬁrGMLLb

(E) dfen Qsflweierene

- AHGS/2021 ; 26 - o ! F .



41. Which among the following is not a book/work of Arundathi Roy?

@
®)
©

v 4

- (E)

‘The God of small things

War Talk
The Ministry of utmost happiness

The 3 mistakes of my life

Answer not known

Epsrariiuueede b L;‘é',g;asmfg;rrsucﬁ SIGHSS TrLTeD erpsliuLeildame ?

@)
®)
©
®)
®)

APl efegwniseian sLaer
Gumir Gués: =
B@bs walpsfluner Liewf

ere eumpeder 3 5@1@]5;@7

edlen Gg,rﬂuaﬁlsb@w

42. World’s longest beach is found in

g

(B)
- (©

D) .

(E)

e wdlen s Herorer sLpsmy @bETL gD 2 6Terg

@A)
®)
©
(D)

- (E)

- Brazil

India
Mexico
USA

Answer not known

9Créled
@
QwaseCasim
USA

cflenL @z flweldena
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43, The word “TRANSTAN” is associated with
(A) . Speed of the train
(B) - Parcel Service
(C) Rivers ' '
Organ donation and surgery

(E)  Answer not known

“TRANSTAN” ereingiid Qs> Qs e QgmiiyeLwig
@)  @radier Gausid

(B) . unmise Geeneu

C) <msear ;

(D) .1 e Qi srend wHmIb dipeme Hélsmes

(E) e Qsfwsidame :

44. Match the Wild Life sanctuaries in India with réspective states :

(a) Bhitarkanikél : 1. Goa

(b)  Nokrek - 2. Odisha

(¢) =~ Dalma - 3. Meghalaya

(d) . Bondla ‘ 4. Jharkhand
@ ® @© @
2 3 ul s g

B) 1 2 3. 4

C) 38 4 1 2

D) 4 i 2 3

(E) Answer not known

@pdureien cuar ellemiE FTMTTOWRSEDET DG LOMBleLMkis@HL 6 Qurr@g,gﬂ&: |

(a) ﬁ]g,sﬁaeoﬂarr i 3 Ges:raurr

| (b) Cprs@ys 2. @uar
()  Lmréwr : 3. Gmanm@n
(d) ' @umer_eor 4. somisesTL

@ b © @
(A2 34 1
@ g
©C 3 > S . 2
(D) 4 1 2 - 3

(E) e Asfluaidene

AHGS/2021 ' o 28



45.

46.

What is the nitrogenous waste excreted by shark?

M Trime thylamme oxide

(C)

(D)
(®)

Tetramethylamine oxide
Dimethylamine oxide
Monomethylaminé oxide

Answer not known

somber QeuelGubpib a),r_rji‘_Gryrr@aﬂu_u% (Nitrogenous). EE@@S]@T Quuwit erebren?

@A)

®)
©

(D)

(E)

g TSSOSO 5 (D

QUL TTBE@S® Sianoer 2sma®
ém.tﬁg.ismgsb SIDDET 2 EDF®H
GmnGé&rmSg‘smga‘o Siavina - LY

aflev @z flweildvene

The salt formed by the combination of the mixture of solutions of two s’imple salts
and which lose 1dentity of the salts from which i1t 1s formed.

-‘ Complex salt

(C_)_
D)

- ()
8®

A)

- ®

(©)
D)
(E)

: _Double salt

Mohr’s salt
Alkali salt

Answer not known

ceaeflu e Ulssersdsmer  sopg  Hersgb e uurarg,  addmbs
e marssuulL Gsm, seueyliyssaiiern gallgsarmwvawu Qusdng. Qg G

SNEWTE 2-LIL|
@rlenL 2 Ui
Guomit 9_ﬁ|_|
&y 2 iy

eflerL Qg flwaiiédema
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47.  The colour of -lighf that travels through glass with minimum speed is .

e

®)
©
(D)

L ®

Violet
Blue
Red
Green

Answer not known

gaflufied agg;ﬁpm a;aiurswrr@. Qg GonHS Cousséd Qaergib?

(A)
(B)
(%)
(D)
(E)

2enG T
Beoid
faiiy

LFeng

 aflenL Qgflweflcvensy

48. Assertion: The hard boiled egg and raw egg can be distinguished on the basis of

spinning of both

Reason : The moment of inertia of hard boiled egg is more as compared to raw

S

egg.
Both Assertion and Reason are true and Reason is the correct explanation of
the Assertion

Both Assertion and Reason are true but the Reason is not correct explanation

- (B)
of the Assertion
(C)  Assertion is true but the.Reason is false
- (D)  Assertion is false but the Reason is true
(E) Answer not known .
s sgar, Gals @aiss (PLaL LHDD AL WPLoL @reraLub sHpbnieuger
SligLIueLuild Gsugju(b\g,g,som.b
smyeRTd sgar, Caus @eups pLeuler s_ggle él@uqﬂmarr P& (y:-i_sm_uﬁ]cmm
il VS ETN _
A)  smpy wHmid stremd &f, srred sapfipsrer sflurer elaréswd
(B) smpmy wHmb sTreTd &, snyed ampdherar Flwrear eleTéswde
©) ai{ﬂ')g Ffl Q@D STTETD Seum) |
(D)  spm sum aTTed a;rn;réamb &l
E) o Gsfludome

~AHGS/2021
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49.

50.

2,4 12, 48:240. ...
@A) 960
d 1440
~ (C) 1080
By 1920,
(E)  Answer not known

2,4,12, 48, 240, ......

A)
B)
(©)

O

(E)

In a theatre, there are 20 seats in the front row and 30 rows were allotted. Each . -

960
1440

1080

1920
sfevL. Qsfueidena

successive row contains two additional seats then its front row. How many seats are

there in the last row?

@A)

S

(©)
(D)
(E)

58 seats
78 seats

98 seats

108 seats

. Answer not known

om faflor erhdar wsd af@sleo 20 @Esmss@rd Corgsn 30 auflavssenid
o grerar. 20s50Es @aQan aflostgid SsHE PHosW auflensewell @rer®

(A)
(B)

L ©

®
(E)

58 cuflasser
78 cuflenasr
98 cuflensser
108 surﬁsm&a;m

e AsRueidama

31
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52.

When two dice are rolled the number of outcomes of gettmg the sum of the faces

equal to 8 1s?

@) 4
&
© 6
) . 7

(E) Answer not known

@m  useLEeT &@Lr_uﬁ@m(ﬁurr@j SiaupBler s wvFuysefier mBsH 8-Ys
@muughsarer eumiiiysenen eramanflsens SR ;

@A 4
B 5
© 6
D) 4

(E) &ler Qsflwelierenen

The probability a red marble selected at a random from a Jar containing p red, g blue

“K_1

and “r” green marbles is

ot -2

p+q+r p+q+r
(€) B i’ A : = (D) ptr_

g i : p+q+r
(E) Answer not known

p-flauiiy, g-fow, r-usms Hps saprREHSET 2 dTeT G @@\msuuﬂleu @@pg U
- Aeuiyflp sapriisd flev_LiLgpaman ‘ﬂasbggssurrmg

A) R L aeeEd
. p+q+r : - p+q+r

o) _Pta _ PEE

© p+qg+r : ®) pb+g+r

(E) ol Qsfweleiena

AHGS/2021 e 32 = cs
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54.

A student can type 21 pages in 15 minutes. At the same rate, how long w111 it take
the student to type 84 pages? '

M 60 minutes

0 50 minvies

(C) - 70 minutes

(D) 45 minutes

(E) Answer not known

@ oTewTeuETTE) 15 ﬁLﬂI;IQJE_GﬂGD 21 USSRISMETS g,LLé& Qe wyub. @GCs
Ceuzgdler, sips wramauEIsE 84 LssHSH I L Fs Qeiiw aaiauate) CHID @b ?

A) 60 AL ruger

: (B) 50 LﬂLIS]L_I'EJ.&GiT S

©) 70 AL mser
D) as ﬂuSl_:._riuasdT _
(E) ofler Azflwefdana

The breadth of a rectangular ﬁeld is 60% of its length. If the perimeter of the field 1s'
800 m, what is the area of the field? :

(A) 18750 sq.m.

M 37500 sq.m.

(C) 40000 sq.m.

(D) 48000 sq.m.

(E) Answer not known

2@ Qsdieus euweder SiBQLD, Bergdlemr 60% @Eb. cmmsumsﬂm a;;p,r_r)ma.,' 800 Lﬂ GTGUﬂGD
cS-IQJGUU.IGIS]GFI’ UTLILUeTEneUS &ITeiT. :

(A) 18750 sq.m.

(B) 37500 sq.m.
(C) 40000 sq.m.
(D) 48000 sq.m.
(E) dfer Qsflweldena

33 S AHGS/2021
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55. The cost of a machine is ¥18,000 and it depreciates at 162 % annually. Its value after

2 years will be

(A) 212,000

J 7 12,500
©) % 15,000
(D) % 16,500

E) . Answer not known

@f Qupdlisdler eme 18,000 =g ROHES 162 % efigwb Gaiionarid gcm_eﬂg)gﬂ.

2 JHES 9m@E Siger iy

(A) T 12,000
(B) % 12,500
(©) 15,000
M) 216,500

(E) e Gsflwefdena
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Find the difference between S1mple Interest and Compound Interest for a sum of
% 8,000 lent at 10% per annum in 2 years.

A)  z60
‘®) 70
& <50
D) %90

(E) Answer not known

T 8,000-&@E 10% &ulig Gﬁgsua Grsrsﬂeu Qreah ye@rOseier e am.@ mnqs@m
safl aul_igé@b 2 et lsHuinssamass snans. .

(A) 60
B) 70
© 80
M) 90

(E) e&lle Qsflusidena

'If%zg-, then a:b:c is:

n|cr-
-ql..p

Ay 12:90-3F
12:20:35

(C) 15:28:35

). 28:20:12

(E) Answer not known

% %, %:% erafler a:b:c eremuigy

(A)  12:20:21
B) 12:20:35
(C) 15:28:35
(D) 28:20:12
(E) efen Qg,ﬂméﬁ]@mm :

% s - AHGS/2021
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58. The largest four digit number which when divided by 4, 7 and 13 leaves a remainder
© 31n each case is : e St e

(A) 9138
(B) 9318
(C) 9381

M 9831

(E) Answer not known

4,7 LDQ)QJLB 13 gfu g@alanm aararmmgid au@GuLED Gurps Lﬁﬁ 3-8 SUbdniqgul
BauQuilu pree Qeés era

A) 9138
(B) 9318
(©) 9381
(D) 9831

E) oo Gsfueldame

59.  Find the LCM of pair of the follbwing polynomials x* —27a3x, (x—3a)?, whose GCD
is (x-3a) ; ' ' -
QA - x(x-3a)* (x*-3ax+9a?)
- (B) .x(x+3a)2 (x*+3ax+9a”)
©  x(x-3a)* (x* +3ax-9a?)
d x(x-3a)® (x* +3ax+9a?)
(E) Answer not known
x*-27a°x, (::c-—30t)2 @eup e LS.@urr.&l. (x—3a) erafled 15.Qum.wo.
@A) x(x-3a) (2 Bozedn’ys
B) x(x+3a)’ (x®+3ax+9a”)
©  x(x-30)* (x* +3ax-9a?)
D)  x(x-3)" (x* +3ax+9a’)
E) e Gzflweiioea
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60.

. Bl

Find the G.C.D. of the following :

3b6x"y 2", 49x%yz®, 14xy’2®
(A) - Tx?y’z?
®) Txyz
&y 14x5y324
.7xyz2

E) Answer not knowh

- 18.Qumeu. (G.C.D) sraws.

35x° y*2*, 49x y2°, 14xy®2?
@) 72y’
B) Txyz

(C) 14x°y*2*

D) Txyz®
E) de Qzflwaidama

_' 10%_ of 5 and 5% of 10 add upto

4) 0.10

.

M) 25
'(E). - Answer not known

5-6r 10% LD‘Q)@Lb.lO~63T 5% <p&lwicupler m@gdﬁ
(A) 0.10 =

B) 0.25
© 10
D) 25

® oo Asfudidm

37
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62. Tidel Park in Chennai was formed by TIDCO and

(A)HEL
./f ELCOT
5 F08
D) IBM

(E)  Answer not known

Qsereranile &&6ue QgmplenL L H,rﬁja;rr &@GUH&SBE!:JLJ.L;L_.‘LF)]Q}GUGET.IQBS@T 4.l Cam whmib
A)  Qané.d.eré. |

(B) ETESTL

©€) y&Herev

(D) e@berd

(E) . &flen Asflweicanen

63. Match the following awards 2019 :

(a) Best Translator Award 1. Pulavar V. Prabhakaran
- (b)  Ayothi Dasa Pandithar Award 2. Liyagath Alikhan
(c) Umaru Pulavar Award 3. Vatsala
4.

(d) Kabilar Award Pulavar Vettri Azagan

ey b)) Ad)
J S e
M| 1 3. 4
C 4 3
(D) AR 1
(E) Answer not known

(ol o T S T N

Wereu(md 2019-1b afl(mpgisemer Qur(mSeyLb :
(a) &pps Qurd Quuirumert eflmg 1. Yoot Geu. Wyumsyer
b) <=Cursd sre veamgsiT dlmgl 2
() im@ﬂummr‘r cll(mgl 3. eugsem
(d) slei aflms 4

Swnes ialser
yevauir. Qeubdlwipser

@ ® © @
@ a8 Tproa. g
B g e
(s R SR S
R R T T
(E) oL Gsflusidma
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64.

groups and get loans with subsidies.

(A) Moovaloor Ramamirtham Ammaiyar Self Help Group

®B)

.

(8

(E)

wreflwgger sLar aisd Aupid S

A) : apaugrt r;;rmrr@r'rg,m SibepowTt Fuw 2 56ilEEW

B)
©)
(8

(E)

Rajashri Self Help Group

Subai:hathi Self Help Group

| Mother Teresa Self Help Group

Answer not known

TreRLd s é_gsﬁ]éa@@
&Ud s 2 5NEGW
Sieener Qsrem s 2 565EE W

eflen Qg flwaldena

39

— is the scheme for the scavengers and their dependents to form self help

- gluyrey AsmfleomerisdT LHMID SHeUTSE®ET -&TbSeUTEHET sW 2 s5alE GUESET DS
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65. The first state in India to mtroduce a pension scheme for third genders 1 18

(A)
(B)
(C)

" 4

(E)

Maharastra
Kerala

- Delhi

Tamil Nadu
Answer not known

@pdureiler pger swrs epapmd undladseiEEssTs @uaLdu  (pe@poL
2dlpsuu@sSu wrhlewd )

.4
(B)
©
(D)
(E)

D& T TEi%Lq [T

Gayarr

Q@L_éved

5UDBTH

dflenL Qgflweleensy

66. Which of the following is/are correct with reference to Moovalur Ramamirtham
Ammalyar (Ninaivu) Memorial Marnage Assistance Scheme? :

L
IL.

IIL.
4)
®B)
©)

S

(E)

. The Scheme was introduced in 1989

The assistance is given to poor girls who have completed 10th std, +2, Degree

- or Diploma

The bride should have completed 18 years
@ and (1)

(I) only

(II) only .

(1), (1) and (III)

Answer not known

apaugrt @gmomsligsn <SibepLowmT ﬁ@msm e geils S Qsmiurer Gereumd
gapmisafle &ﬁlwrreurg eT5I/eTeneu ?

II.
III.

(A)
(B)

(©)

D)
(E)

- AHGS/2021

- @8 1989-6 GaukslLCLg).

10 whmib 12-b eu@uy, UlLib, ulLwib Ugss G,rsmgp QuekTs @pésTearg)
LOERTLO&ET 18 euLs L bdl[Es Couar(Hib

@ wppi> (D)

0 vlpw .

II) v

@, @D wppd ATD)
ellenL_ Gg{ﬂmaﬂ@@m
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: 67 Hir.ldu_ Religious Endowments Act was passed f‘c;r the first time By the_ Government of
J Justice Party

(B)  Congress Party

(©) : DMK Pla'lrty

(D) : ATADMK Party

(E)  Answer not known

@b sOU BPESLLameTs &L LD wsar psdld @Qbs sLAlar o h sTwsHD

ﬁmm@mmuul;l_@.
A) 5‘@@@ |
@) eritibye sl
(©) ﬁgneﬁli__@os&r@a@m SLP8&LD
(D) ?9*“’6”557{55]”-’ aa@mn@umﬁl; @eGanhné &ipsib

(E) ol Qzflweioere
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A}

68. Which one of the statement is incorrect regarding Velunachiar?

Js
o B
i
IV.
(A)
&
(D)
()

- She was born as a Princess of Ramanathapuram

Her husband was Muthu Vaduga Udaya Devar

Hyder Ali invaded Sivaganga in 1780 and defeated Velunachiar
She utilised the Second Mysore War to enter the SwaGanga

(I) only

(II) only

(I1IT) only

(IV) only

Answer not known

£§5wmeﬂm Cougy pr&flwm upHdl peuprar sapm g2

et
IL.
I11.
IV.
(A)
®)
©)
D)
(E)

Qe groprgsLrd @eteurs peumt

Qaumerw seveul (pHg s e Ggeur

1780 oans 2ied Heuskiansudler B v T(HFg Cougnpréslwimeny Gg,rrg)aamrgg)rrrr
@Gurr QeLmib enw@T Gureny LwaTURSS SeushamasEer HmPbSTT

(I wrEw :

(II) v

(III) wr Ew

V) v

aflen Qzfwelldvanay

69." Assertion (A): South Indian Rebellion failed miserably.

Reason (R) : There was no co-ordination between the leaders.
(A) (A) is Right, (R) is Wrong
(B) (A) is Right (R) is not the correct explanatlon of (A)
(C) Both (A) and (R) are Wrong ,
: (A) 1s Right (R) is the correct explanatmn of (A)
(E) Answer not known
gadml (A) : QaarafpHw Lyt Bls vwksyors Cereoefluybmg.

sryamd (R) : soearseiaL Gu ehpiewo @a‘osﬁrrmd) L (BESS.

A
(B)
(©
(D)
(E)

AHGS/2021

(A) #f (R) goum -
(A) &M (R), (A)-uller &rﬂunaﬂ efleTs & D66

(A) (R) @renrino seum
(A) &M (R), (A)-Qer sflwner ederésid
cllenL Gz flweildvena
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What dd_es the word ‘Thuppakki’ mean for Thiruvalluvar in this Kural?
“Thupparku Thuppaya Thupp akki Thupparku
Thuppaya Thoovum Mazhai” | :

(The rain makes pleasant food for eaters rise; As food itself, thirst-quenching
draught supplies)

(Aﬁ Mazhai Neer (Rain Water)
(B) Paadhukaathal (Safety)
J Undaakuthal (Produce)
- (D) Unavu (Food)

(E)  Answer not known

‘Quum’r&@g gUumy IUUTEES FLUNTEES

FUumu gre b wenLp’
glmeuet@meu ‘griunsd erarn QerewednE creman Quimmper a;rr%isrﬁfmm‘r?
@ e
B ungsnsse
(C) o am_nsEse
D)  eamey

E) deor Osfuciivme
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71. - Wha is called as Paanan.acmrding to Tamil Literature?

AL

B)

©)
D)
(E)

One who sings a song

One who beafs the Parai
One who stitch the fishnet
None of these

Answer not known

LITGRTET GTETLIGUT W ?

@)

(B)

) -

)
)

urrf.@[;urr@usur‘r .

LD Biig LG
Wlereuene GpuILIe
@eupmieT eTgiaybd @c‘usmsv'

elenL Qgfwefcoree

72.  Identify the Tamil writers who have received J nanpith award.

M Agilan, Je}?akanthan

®)
©)
)
®)

Agilan, Sujatha
Jeyakanthan, Jeya.mohan
Puthumai Pithan, S Ramakrishnan

Answer not known

-gLﬂl@@ e Ams Glurj),r_mmr:rasm — WmTeuiT?

Y
B)

©)

D)
(E)

AHGS/2021

o El e, G&w&nﬁﬁ@ :

&, sQIHT

- Qguasrpger, QeguiGrser

Uglewligser, ere. .qrrmﬁ@a'qameh

ellenL Gzflweildvena
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73.

After ren:ioving the causes of one.’s suffering the one with crystal knowledge finds its
(A)  Combined book
B) Secohdary book

(C)  Derived book

) ~ Primary/Original text

(E) Answer not known

 alwanden fifl ofemifu Sflfler (aaradt s el
@ v :

B  goame

(©)  afpme

(D) @gd)gﬁﬁbl-.

(E) e Qg,:ﬂusﬁlcbé)su

74. Which metal was used by Romans to mint the coins that were_brohght to India

(Tamil Nadu)?

(A) Co.pper' '
‘B) Gold
(C) ,Lead

M Silver

- (E) Answer not known

: Asr_ssgdler Grmonefluirser .GT._I"F;Q 2 Canassler @mﬁwnaﬂm@ Carer® UL

snasener GleuefludlLeri?

(A) Q@siby
B) Qumenr
(C) mwbd
D)  Qoudra

E) oL Osfuddomea

w0 . AHGS/2021
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76 @)

(II) :

(B)
(C)
D)
(E)

@ :
D :

A)
(B)
(©)
D)
(E)

The old leaders of the congress were conscious of the ruinous economic policy

of the British Government.

Dadabhai Naoroji, Ramesh Chandra Dutt, D.E. Wacha and others had
- appreciated the anti-indian economic policies of the British Government.

(I) 1s True _

(I) and (II) are true

(I) and (II) are false
~(II) 1s true

Answer not known

sradlrler  umpw  soeeursdr GG ey aq&rrrma;g,é]m Sl flaysromer
G]urr@mrrg,rrga; Geratens idlbSlmHSeTT.

STSTLIML @gm‘r@ryﬁ@ 7GLeie &‘n_aﬁug_,g, ig-.@). QUTEET wHHID v Gl g ey &mﬂm
BHw Qumperngmy THTILE CsTaTasamw LITTTLiqu|eTeTai. '

(I) v Ew &M

(@) wpid (1) o

O wppid 0D saip
D) wLEw &M
eflenL Qg Mweilerena

76. Match the following :

(a) Lahore Congress 1. Forward Bloc
(b)  Tricolour flag 2. Ravi river
(c) Nethaji 3. Poorna Swaraj
(d) Union Jack 4. British Flag
@ b @© @
- (A) 4 2 3 1
B)g 1 SR 4
3 2 1 4.
“€D). 1 3 4 2%
(E) Answer not known
Yereupeuareupenn QummEss :
(a) e sridyev 1. unmfeur® Gerrs
(b) epeuianr Gamg 2. gmefl B
(© Cpsrgl 3. LLTEWT SWImghuid
(d) weflwer mré 4. 9l g6y Qamg
@ ® © @
A 4 2 3 1
B 1 3 - 4
“40¥- '8 2 1 4
oy P8 4 2
E) e Qsfueiome
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7.

78.

- Which of the following was one of the impact of Swadeshi movement in the

communication system of India?
'(AI) Passive resistance
(B) Surat Split .
(C) . Hindus alienated Muslims
5 Popularity of Regional language

(E) Answer not known

Spsaam_measafld erg &Ggyﬂ @u_tasasg,;ﬁsm eflenareurs @rrgglu_l 56U QFmLiy g,jm,muﬂsu

C ghHuBisslLl L. STESLD Grsm.urrm’?

(A) ensels argliiy

(B)  ®H Gerey

(C) Q@pssser wpeveiivsel BlHHS SABHLLESSLLD
(D)  aiLm Qurnfseiear Qsweunse QungD
E) oL Gsfucdoma

The British historians call the Revolt of 1857 as
(A) Freedom Struggle '

(B)  The Great Revolt

(C) War of Independence

M Sép oy Mutiny

(E) Answer not known

&_lz'pés&sﬁmpmrrgj 1857 <a(h) YrlHenw yphidle cugorHorAAwiser siampsdeammar
@A)  AGsoe Guasnd |

B) Quww Herissl

©) - &'@[BQUQ Guimr

(D) Auumis sesD

E) e Gsfuedbvma
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79.  Consider the following statements related to the Growth of population in under-

- developed nations : : Sk
(1)  Low savings due to high level consumption expenditure

~ (2) It destroys the natural resources
(3) - It stimulate greater productivity and savings

Select the correct answers by using the codes :

(4 (Donly |
B)  (2) only
(1) and (2)

)  (2) and (3)
(E) - Answer not known

Yergmdlu  prhsefler stariu@bd  ESET Gsrepss Qumésd GHss sSHSsS®a
seuarsdle Gamerarayib. . -
1) 2ifls msies svaurd Cslluy Gopdns : s

@)  Quies euarisdr ifibe Cunen werelns, LweTURSSILHE DS

3)  =ifs 2 pusds Sper wopb CabllieL oard&elsHng

GhUPs®er LwauRsS sfurer el srer :

@) (D) oo 2

B) (@) vpw

©) (1) wppid (2)

D) () wpgw (3)

() eler Asfweidena

80. The Programme which was launched in 2005-06, to provide basic amenities and
infrastructure to rural India is called as : - :
(A), Pradhan Mantri Gram Sadak Yojana
; # Bharat Nirman and Rural Housing
(C)  National Rural Livelihood Mission
(D)  National Rural Health Mission
(E) Answer not known

2005-2006-0 speimqd Qsrimstucl, dApmoyp @pdwress SigliumL  euslser
LHYID 2 6TEHL LU QUPRIGESHSTET S LD cre SDPSSIL(HeUg '
(A)  Qyswher ymo smened S Lib
B) @pHw s Gurand oYL AyToiyp SEHSET
(C) Gsflw Hymoriyp QUITPGUTSTTLI Liewf]
D) Csélu Aymouiyw SE&TSMTL L6l
- (E) deL Qsfwueidame
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— 81,

82.

The Credit Authorisation Scheme introduced by

(A)

(C)

(D)

A

HL6ir Smdsty HLsns é{@@&ﬂu@'&,ﬁlﬁ@- 6TE?

@)
®)

©)

(D)
(E)

International Monetary Fund
Reserve Bank of India
Commercial Bank

Exim Bank

Answer not known

uearm_ () uenthldl BHlmieuerd
@pdw fAeiey eurid

cuefls uriidl '

el eurkid)

efenL Gsflweildene

Consider the following statement :

(1)

@

3)
4)

(A)
(B)
(D)
(E)

India buys Eighth position in terms of nominal Gross Domestic product among
the world economy

India buys thlrd in terms of purchasing power parlty among the world
economy

UGANDA is included in G-20 -

Highest mternet users in the world is China as per 2017 statement

~ Among these, wh1ch of the statements are correct‘?

(1) and (2) only
(2) and (3) only
(2) and (4) only

- (4) only

Answer not known

Getrau(pid mpenm SHeue]

41

@
3)
4)

2 wal QurmermsTysSld CTss am;_r;m.,@ 2 pugduiid erlLreug @a_g_semg,
@iHwur Qupmerearg

2 &l GummeTTsTrSled Ui E&;;ﬁtﬁ]w ‘@‘r_r)g_ﬂu_lrr @Gﬂmrrm @Lsas QubneTerg)
o srarm, G-206 Gerssliul (HeTerg)

2017-6 &amdH6&H Lb6rUig amazg,g‘,]@m@u_l §sisrrr a;ﬁe; Qaearugar Gsameu
LweTiseT QETamHeTens). :

Cule sar_eupmier erepey Fiflwimer S hOISET |

(A

®B)
©)

D) -

(E)

(1) whmib (2) LLHib

 (2) wpmitd (3) LLH\D

(2) vHmID (4) LLBHID
(4) v P

efllen Qgflweildane
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83. Parliamentary privileges are specified in

J Article 105

B)

(©)

()

(E)

LITTT(@HLOGHD FE)Ien&&:en e

A)
B

(&)

e

(E)

AHGS/2021

Article 194

Article 186

Article 172

Answer not known

A 105
8 194
A8 186
o8 172

eflen Qgfwelrenew

50
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84.

85.

When wasl.the legislative council in Tamil Nadu abolished?

v

(B)
(©)
(D)
(E)

1985
1986
léS’Y
1988

Answer not knocwn

erQuTE SBIPHTL 196 FLL Gowamal SE@@HSILLL S ?

(A)
(B)
©)
()
E)

1985

1986

11987

1988
ellenL Clg;rﬂ wedldened

The following statements relate to the election of Indian President. Find out the -

wrong statement.

(A)

©)
D)
(E)

He should be a citizen of India
He is elected by members of two Houses of Parliament alone

Should not hold any office of profit

He is elected by the members of the electoral college

Answer not known

EpsamenriLHLD QSR LIRS &gy samaeuflar GCsiged @@gg,g @ﬂ@) gl seuprer
eundSlwid erenn ser(RGlig&sHalb.

(A)
(B)
©)
(3
&)

e @k @bHus Gywsams @nssd Cad B

unyr@sweasdean Fraeuseier 2 prudarsermed WG Gg,ﬁg;gg;@és&uu@mnﬁ

| ereucliglonear @arusgwrer GQgrdeibd Gdawrmo

sieuany Gaitged aagnfl (electoral college) Gsirey Gawislpg|
aflen Qs flweléene
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'86.  Who was the architect of atomic researgh in India?

L A

Nehru .

- Homi Bhaba

©
)
(E)

Bhatnagar
Abdul Kalam

Answer not known

QpHu sigm o rmiEduler AmG wmi?

@
®
(©
@)
)

Cr

Capmsl umur
UL BI&T
I Seomd

aflen QgMweildrenew

87. The Lankavatara Sutra deals with

@
©)
D)
(E)

Life of Mahavira _

Teachings of Mahayana Bucidhism
Teachings of Hiﬁdilisni

Vedas .

Answer_ not known

: aJréJa;rréJg,myrr GSSTd @engs LnH aﬁ.gneﬁ];_r)gj

(A)
B)
(©)
D)
E)

AHGS/2021

wsreirfler eurpsams

D& TWITERT L@';gmg, QareTensaeT
Qbging Qsrareanssar
G.Gug,rsm;m

allen. Qzfweldene
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88.

89.

Muhammad Gawan was appomted as Governor of whlch region by Humayun?

M Bijapur

Golkonda
(C) Be dar
(D) Birar

(E) Answer not known

Wwsg saurmar aps AMEALSHET 2 @sBITE gﬁmngé&rﬁu;ﬂgg,m‘r?

@) Gguyr
(B) CaréQamarm
€ Guuni

@) S

E) oL sfuddms

The Mughal Emperor who gave permlssmn to East India Company to set up tradmg
‘post at Surat?

(A) Akbar
(B) _ Aurangazeb
dJ ahangir

- (D) Shahjahan

-(E) Answer not known

TS0 wrrgg,as DDWSNSG S NDES %meﬁim aﬁgpa;é?‘m,é]u_l asm@usuﬂas@ a@;mﬁ 2eflss

-PpEQTW Guyya wmi?

(A sisur

B)  seyrrsl

©) gapmmsi

(D) eyrmsTar

E) dfa Gsflweidea

53 : AHGS/2021
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90. Who was the first scholar .to use the term “Indus Civilization”?

(A)
(B)
()

o

(E)

Mortimer Wheeler
Dr. Pran .Nath'
Morris J. Spivack
Sir John Marshal

Answer not known

. “Abg praflen’ eern aurismgaw LwaTUGSSU pse iblepT Wi ?

(A)
B)
©)
(D)
®

OGO GSeVIT -
penareui yTemBrS
Gurflev J. evilleurd
&ir gmﬁ Lonﬁaqaéj :

cllenL. Ggflweildena

91. Which among the following is regarded as the leading cause of air po]lui:ion? :

(A)
(B)
(C)

(B)

erg) ?
@)
®)
©
D)
(E)

AHGS/2021

Agriculture

Warfare

Mining and Construction
Motor Vehicle Emissions

Answer not known

Spssam_apper sthflar wisUT_GéE Quiigd styamons @@L‘Jug,ﬁa S(HSLIL(HGUG

Ceuermententn
Gumit LulH&
safllo HIRISESE LHDID S (HLOTETLD

aunsar Lens Qeueflui@

- eflen @g,rﬂmaﬂsbemp

B4 - : o3



93.

- 92. We is the Sivalik hill located?

Outer Himalaya
(B)  Greater Hi]ﬁalaya
(©) Sub-Himalaya
(D)  Central Himalaya

* (E) Answer not known

Hauredlé wane Grrsj@ SiMDHGIETETS) ?
(4) Geuefltiyp @wwene

(B) . 2 Wi @wene '

Q) &IJ-—@LDUJU:)GDGD

D) wsdu @owbee |

(E) &lenr Gsflwellévency

Assertion (A) : Attitude of the eastern Himalayas increases rapidly unlike Western
Himalayas
Reason (R) : World’s highest peaks, Everest and Kanchanjunga are situated in
the vicinity of Bihar and West Bengal Plains :
Both (A) and (R) are true and (R) is the correct explanation of (A)

(B) Both (A) and (R) are true but (R) is not the correct explanation of (A)

I_ (C) (A) is true but (R) is false

(D) (A) is false but (R) is true

(E) Answer not known

:anrrbgi_(A)_ 3 aﬁlgga;@ @wreul paoos@st_fldar  2wppd  GuopE  Gurew
: . Gg;rn..emr;@urrsu ST ellanrhg 2 Widlearng). _

smgawrd (R) : zcedlar s &LLIU’LDITGHT Asyhugetrar erauyevl  HMID a;@%urggrma;rr
: Cumrerpena asmmg;g]@uugj Sammi  wHmib Gmm@eurmas Fuwleue
LGS uller urrrraasuuﬁlsu DD OHFETETS.

A) A vppd (R) @rar@in &, Gmg@m R), (A)— uﬁlen‘r sflwmres aﬁ]masa;m DGO

B) (A) whgw (R) @rarpiw fl, geamed (R), (A)—uler sfluner eletésware
©) . A &M, R) sMwéra
D) Q) sflwreng e, (R) sflurang

(B)  efeL Asfluddome
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. 94.  Purpose of Agricultural Producers’ Co-operative marketing society is

(1)
2)
3)
4)
@A)

4

- (B) -

Sale of agricultural products at higher price

Produce pledge loan for agriculturalist’s maximum amount of loan
To create comfortable market zone

To preserve the goods : :

(1) correct (B.). (1), (2) correct

(1), (2), (3) correct (D) (3), (4) correct

Answer not known

efleuamuy amuggmm gl Hpe| ellpuemer sasder Crrésid

(1)
(2)
(3)
4
(A)
©
(E)

afleusmu 2 Husd Qeiis QurmLsmer <ifs elewia alhuamar Qaieug)
2 pugduller QummL sefler éq;ﬁmuqu_l.rran SLET QUPBIGHSD :
Q&ma;rﬂu_lmrfsﬁ eflpueen spengan QFiga

Q&L @ GursToed QumBETEMmeT STLILg)

(1) b B &M B (1), (2) v &

1), @), (3) L @b s D) (3), (@) L@ &

cllenL @gﬂmaﬁ]a)mm | -

95. The Parliamentary left in India is significantly denotes, a Ideology of —
“socio-economic and political design in the Post Colonlal situation

M Rev1510mst

: Democracy
: (C) Marxism
(D) Socialism
(E) Answer not known _
@pdureler unyTEHLETD @l_gj Qsmétens - gSIuLS]@GugJ ' - @s
sroafllsgeusdne Gpegw seps GUrBETTSTT LHDID cgq;reﬂusu a.lqmsmmulﬁlea‘r HSSTHSID.
(A) ﬁ@%wwww
B) eBTwLsD
(©) oTGAUD
(D) swziLD
(E).

AHGS/2021

elen @gflweicene
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96.

97.

Pick out option which consists of BRIC Nations.

_(A)  Britain, Rio de Janerio, Italy, Congo, Switzerland

d Brazil, Russia, India, China, South Africa
(C) Bhutan, Rumania, Indonesia, Canada, Sumatra
(D) Bangladesh, Russia, Iceland, Chile, Sweden

(E) Answer not known

BRICs prpaemer 2 erer_sfw allenemw Osfley Gews.

A)  GfCier, AGumg garflGur, @ésre, srmCsr, sellsronbs
@B)  QGCra®, @reswr, @pSwn, Sarr, QseryidNssT

(C) e, (Gwaflur, @BCsrCaradwim, &EG'ETLH,- &OSTT

(D) unserCsels, @m‘#mn, severhgl, fed, seiL e

(E) G)S]GB)L.-@ﬁIﬂUJGﬂ]&DGﬂGO

What 1s rancidity?

(A) Decaying of carbohydrate
(B) Decaying of protein

(Cj Decaying of fruits

M Decaying of lipids

(E) Answer not known

2arflICLINGED TeTHTed GTETET 2

(A) wreyuGummer 2iWauCuUTE®
B  Lstiser sgdCLsd
© uLprser @daCunsd

(D) Qamyuyser wALCUTSH
(E) oo Ggflwellcvene .

57

AHGS/2021
[Turn over



98. Transfer of learning refers to

(A)
;
(D)
E)
FHOE
(A)
®) -
©)
D)
E)

Forget after learning

Remember after learning

Use of learnt knowledge in the learning of new things
It’s not possible :

Answer not known

uflorHob eremg

sHm Gn@ wohg G eus

gomller flevareiled Qamdraig
Hilw fleswsans spp Siflefled LweaTLESgIS)
FrgEwLsldene

eflen QgMweildene

99. _Accuracy.of scientific knowledge is enhanced through

(A)
©)
D)
(E)

Direct observation
Experimental observation
Indirect observation
Inferential observation

Answer not known

2ifledlwe oflafer goadlwsms CuobuBssiag)

4)
(B)
(©)
(D)
(E) .

AHGS/2021

Cryyg 2 HmCrrése

Gengever 2 ppICHTESED
s 2 HNCHTESD
:%I@ILDITG!;T o HNCHTESE

aflen Qg flweldene
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100. The Boolean expression for XOR gate is |
A AB %'Z_ B
.(B) A-B
(C) A+B
(D) AB+AB

(E) Answer not known

. XOR aumilelerr Lyelluier gwoarim()
(A) AB +. AB
(B) AB
(C) A+B
(D) E_* AB

E) oL Asfudoaa
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Read the following instructions carefully before you begin to answer the questions.

IMPORTANT INSTRUCTIONS

You will be supplied with this questibn booklet 15 minutes prior to the commencement of the examination.

2 This question booklet contains 100 questions. Before answering the questions, you are requested to check
whether all the questions are printed serially and ensure that there are no blank pages in the question
booklet. If any defect is noticed in the question booklet, it shall be reported to the invigilator
within the first 10 minutes and get it replaced with a complete question booklet.
If the defect is reported after the commencement of the examination, it will not be replaced.

3. Answer all the questions. All the questions carry equal marks.

4. You must write your register number in the space provided on the top right side of this page. Do not
write anything else on the question booklet. ;

5. An answer sheet will be supplied to you separately by the room invigilator to shade the answers.

Instructions regarding filling of answers etc.. whiich are to be followed mandatorily, are provided in the

6. You shall write and shade your question bookle) number in the space provided on page one of the
answer sheet with BLACK INK BALL POINT PEN. If you do not shade correctly or fail to shade the
question booklet number, your answer sheet will be invalidated.

i Each question comprises of five responses (answers) : i.e. (A), (B), (C), (D) and (E). You have to select

ONLY ONE correct answer from (A) or (B) or (C) or (D) and shade the same in your answer sheet.
If you feel that there are more than one correct answer, shade the one which you consider the best.
If you do not know the answer, you have to mandatorily shade (E). In any case, choose ONLY
ONE answer for each question. If you shade more than one answer for a question, it will be treated as a
wrong answer even if one of the given answers happens to be correct.

8. You should not remove or tear off any sheet from this question booklet. You are not allowed to take this
question booklet and the answer sheet out of the examination room during the time of the examination.
After the examination, vou must hand over your answer sheet to the invigilator. You g_e_al,ﬂowed to

take the question booklet with you only after the examination is over.

9.  You should not make any marking in the question booklet except in the sheets hefore the
last page of the question booklet, which can be used for rough work. This should be strictly
adhered to.

10. In all matters, the English version is final.

11. Failure to comply with any of the above instructions will render you liable for such ‘action as the
Commission may decide at their discretion.
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